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CASE BASED QUESTIONS

Q1. Read the extract and answer the questions that follow.

The Gonds lived in a vast forested region called Gondwana — or “country inhabited by Gonds”. They practised
shifting cultivation. The large Gond tribe was further divided into many smaller clans. Each clan had its own
raja or rai. About the time that the power of the Delhi Sultans was declining, a few large Gond kingdoms were
beginning to dominate the smaller Gond chiefs. The Akbar Nama, a history of Akbar’s reign, mentions the
Gond kingdom of Garha Katanga that had 70,000 villages. The administrative system of these kingdoms was
becoming centralised. The kingdom was divided into garhs. Each garh was controlled by a particular Gond
clan. This was further divided into units of 84 villages called chaurasi. The chaurasi was subdivided into
barhots which were made up of 12 villages each.

(a) What helped Gond Kingdoms to dominate the smaller Gond chiefs?
(b)Define a clan.
(c)Briefly explain the administrative organization of Gonds.

Q2. Read the extract and answer the questions that follow.

Afreen, Sujata and many other students from their school travelled to the state capital to visit the Legislative
Assembly which was housed in an impressive building. The children were excited. After security checks, they
were taken upstairs. There was a gallery from where they could see the large hall below. There were rows and
rows of desks. This Assembly was going to have a debate on a current problem. During this time, MLAs can
express their opinions and ask questions related to the issue or give suggestions about what should be done by
the government. Those who wish to, can respond to this. The minister then replies to the questions and tries to
assure the Assembly that adequate steps are being taken. The chief minister and other ministers have to take
decisions and run the government. We usually hear about them or see them in the news channels or in the
papers. However, whatever decisions are being taken have to be approved by the members of the legislative
assembly.

(a)What is legislative assembly?
(b)Enlist the power of the members of legislative assembly.
(c)What happens during the assembly debate?
VERY SHORT ANSWER TYPE QUESTIONS
Q3. What are endogenic forces?
Q4. “In a democracy, the people have the main authority”. Justify the statement.
Q5. Enlist the regions drained by Amazon River basin.
SHORT ANSWER TYPE QUESTIONS
Q6. Give an account of world’s largest cloth market in Tamil Nadu.
Q7. What do you know about the settlements on Ganga and Brahmaputra plains?
Q8. “Many things in weekly markets are available at cheaper rates”. Justify this by giving two reasons.

Q9. “The Rajputs are often recognised as contributing to the distinctive culture of Rajasthan.”. Explain with
suitable answer.



Q10. Why mass media constantly think of ways to make money?

LONG ANSWER TYPE QUESTIONS

QI11. a. “The devastation of Delhi after Nadir Shah’s invasion was described by contemporary observers”.
Provide three evidences to prove the statement.
b. Explain about the expansion of Rajput Ruler of Jodhpur.

Q12. “Our atmosphere is divided into five layers starting from the earth’s surface”. Elaborate the statement.

MCQ’s

Q13. Arrange the following statements in correct order.

1. The merchant distributes work among the weavers based on the orders he has received for cloth.

2.Cultivation of cotton requires high levels of inputs such as fertilisers and pesticides

3. The foreign businessperson makes huge profits in the market.

4. The garment exporting factory will use the cloth to make shirts.

a. lI1,I, IV, 1I b. IL I, TV, III c. LI, III, IV d. v, 1L, 1, 1I

Q14. The ruler of Iran,  , sacked and plundered the city of Delhiin  and took away immense amounts
of wealth.

a.Wajid Ali Shah, 1739 b. Nadir Shah , 1737

c. Wajid Ali Shah, 1735 d. Nadir Shah , 1739

QI15. The cost to advertise on a TV channel varies from ° to’ per 10 seconds depending on the

popularity of the channel and time
a. 1000, 10,000
b. 1500, 1,00,000
c. 1000, 1,00,000
d. 100, 1000

Q16. When the cavities in the sea caves become bigger and bigger only the roof of the caves remain, thus
forming .

a. Sea cliff b. Sea arches c. Sea stacks d. None of these
Q17. Consider the statements given below about Kathak and choose the correct answer.
a. The term kathak is derived from katha
b. Performers embellished their performances with gestures and songs
c. The kathaks were originally a caste of story-tellers in temples of north India
d. All of these
ASSERTION AND REASONING
Q18. Assertion(A): Farmers who produce cotton have to borrow loans from the traders so that
they can get the seeds, fertilizers, pesticides etc to grow their crops more nicely.

Reason (R) : The traders are the only ones who supply the farmers financially but sometimes pay them less for
the cotton they purchase.



(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Ais true but R is false.

(d) A is false but R is true

Q19. Assertion(A): The air we breathe is a mixture of two gasses- nitrogen and oxygen.
Reason(R): Oxygen is the most plentiful gas as its composition is 78% in the air.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Ais true but R is false.

(d) A'is false but R is true

MAP WORK

Q20.0n the political map of India mark the following tribes and places.

a. Gakhars b. Maravars

c. Any one state famous for classical dance form in South India.



